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Musterl6sungen

Aufgabe 31:

Auflagerreaktionen [kN]:

70,31

«— 67,50

19,69
Normalkraft [kN] :
42,19
Querkraft [kN] :
- 56,25
56,25

Biegemoment [kNm| :

M, =105,47
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Aufgabe 32:
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Aufgabe 33:

Auflagerreaktionen [kN]:
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Biegemoment [kNm| :
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Aufgabe 34:
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Aufgabe 35:

Auflagerreaktionen [kN]:

29,29 —»

19,52

30,71 —»

10,48

Normalkraft [kN]:

-10,48
Querkraft [kN] :

- 3,57

- 1-30,71

Biegemoment [kNm| :
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Aufgabe 36:

Auflagerreaktionen [kN]:
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Aufgabe 37:

Auflagerreaktionen [kN]:

Normalkraft [kN]:

Querkraft [kN]:
-30

30

Biegemoment [kNm| :

60 60
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Aufgabe 38:

Auflagerreaktionen [kN]:

I T<O
92,5 82,5
Normalkraft [kN] :
135,21 - 75,00 - 75,00 135,21
112,5
Balken:
Querkraft [kN] :
-37,5
-27,5 -
117m 1,50m ) 2,50m =L
NPl A R
¥ N R
17,5 22,5 375
Biegemoment [kNm] :
-45
-15
M, =188
M, =10,21 Mira =188
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Aufgabe 39:

Auflagerreaktionen [kN]:

S, S

f f

607,5 202,5

9y

Stabkrifte:

S =S, =- 774,56kN
S, =S, =- 736,08kN
S, =S, =-707,32kN
S, =S, = - 689,49kN
S, =-683,44kN

Die Stabkraft in allen Vertikalen betragen jeweils 91,13kN
Balken:

Normalkraft [kN]:

683,44

Querkraft [kN]:
-203,63 -202,50

DR LN - 114,75

-25,78

-111,38
-20,25

+ 65,25
70,87

154,13 162,00

243,00

‘ 14,175m
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Biegemoment [kNm| :
- 1275,66

- 607,32

- 1397,22

-972

472,68

1154,34
1302, 78

M, =1373,76
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